2. Write a rule for the translationy shown below.
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1. Describe what this trapslation representg ingorgs: ’@)_—»( =2.y+3)
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w and la{el the image of AXYZ after the
following translation: (x,y) - (x -3,y -2)

6. Draw the line of reflection and write its equation for the reflections shown below.
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4. Find the coordinates of AEFG after the following translation:
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5. Given the coordinates of P and P’ below to write a rule for the transla jon./
P(-4,9) P'(2,5)
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7. Find the coordinates of ATUV after the following translation:
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8. Wr?e 5!{ rulg fo) the translagion pelow; 9. Dyayy the image AJKL after reflecting over the line x = —1
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H. Geometry Section 4.4 — Using Congruent Triangles: CPCTC

Objective: I will be able to use triangle congruence and CPCTC to prove that two triangles are

congruent.
A

With SSS, SAS, ASA, and AAS you know how to use three parts of triangles to show that the
. e .

triangles are r— . Once you have trigngles congruent, you can make

conclusions about their other parts because, by deﬁn:'fi& corresponding parts of congruent

triangles are congruent) You can abbreviate this as

10. For each of the parts below, find the coordinates of the image of p each reflection.

a)?e ept X gWr the x-gxis, b) R over ey-a:us Reﬂec X over theliney =2
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Example 1: Umbrella Frames: In an umbrella frame, the stretchers are congruent, and they open
to angles of equal measure. c

Given: SL = SR and 21 = 22 \ 4Nﬂm /

Prove that the angles formed by th’e_sha

Prove £3 = 44—
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QC 1: Given £Q = 4R, 2QPS = LRSP

Pro s = PR QHL)Q @QIVQW
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3) PS = PS
ep ARPS = AQSP @AAS
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Example 2: Givi DEGé £ DEF are right angles; 2EDG = £EDF.
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2.
L= c P
Given: CL= PA
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